HZHAH Linear Module SHC-090-400.0

LTotal Length=LstroketLocarragetLsafety Stroket+182

BRE-BHITEIBRKE+R2(TI2+182

280 968

\

3kMB*16 \ Q
VAV
° °

100

55

235

125

© © © © E ]
[-) (-] o\ oc o
) e — S
® ® ® © T
S s End Plate
' Sk SR
$20h6 1 9 8*M10
—_— © = © / <] I
o 2 3
| ° _ o il ° i o) — ©
81 182
m 90%0.2 90%0.2 90'0.2 90*0. 2
FARZSH Technical Data PEhEE Products weight
e NIHEE maximum Speed : 5m/s
B K I03# fE maximum Acc: 25m/ss FATIEEE
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 32.4kg
22 %45 No-load Torque: 0.9Nm
% K37 /ymaximum Force Fx : 2300N 100mm 17 &
A5 7 % % Belt Width : 50mm 100mm Stroke Weight:  1.62kg
44714 Stoke per Revolution: 200mm
KM N4 maximum input torque:  60Nm
I KATHE maximum Stoke: 6000mm
K ELHE /1 Capability
Fz %1 (N) Force (N)
Fx(max) 2300
Fy(max) 17000
Fz(max) 10000
] 1) 25 56 Moment(Nm)
Mx(max) 480
My(max) 1100
Mz(max) 1600
1] 521E E. Order Information
SHC | XXX | CAL DRM | STK | TIL |  SA FA MM [ 000
5 | MR | BRKE | GarE  BNTE | BASK | WERR | AsEE ZESR | BHRS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
60 FrAEStd .0 ETitE fRfEStd  SA | FfE Std  FA | #REEStd MA 000
SHABICID/T 90 | 300-600 | DI3ERen.1 | 1003000 | Calculation By | mEStd Hole SO | 45 Special FB | {ll Side MB 2
E/F/G--: Drawing 45l Special  SS ﬁmg%a’&?mwmmg

1468924{5) Example : SHC-090-300.1-500-1002-SA-FA-MC-000

Note: all the measuring units are mm




HZHEAH Linear Module SHC-090-500.0

Lrotal Length=Lstroke+Lcarragetlsafety Stroke+182

BRE-FYTIRBRKE+RL2{TIE+182

3*kMB*16

100

© © © © ﬁ
® o) ) o
® E——¢ =
© © © © @Hg
500 End Plate
148 12.5 ﬁ,ﬁ%ﬁ?%i*
$20h6 + o 8*M10
©© o - - @@l { ° °
T © _ © : I ) io —2
‘ 81 91 182
10%M8%20 117.5'0. 2 117.5'0.2 117.5%0. 2 117:5%0.:2
FARZSH Technical Data PEhEE Products weight
e NIHEE maximum Speed : 5m/s
B AE & maximum Acc: 25m/ss EITHEE
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 38.5kg
22 %45 No-load Torque: 0.92Nm
5 K47 /ymaximum Force Fx : 2300N 100mm T2 &
A5 7 % % Belt Width : 50mm 100mm Stroke Weight:  1.62kg
44714 Stoke per Revolution: 200mm
KM N4 maximum input torque:  60Nm
5 KATFE maximum Stoke: 6000mm
K ELHE /1 Capability
Fz %1 (N) Force (N)
Mz 7 ((_‘\ Fx(max) 2300
IR Fy(max) 17000
,,”
Fz(max) 10000
] e 25 55 Moment(Nm)
A, Mx(max) 480
My(max) 1400
Mz(max) 2000
1] #2122 Order Information
SHC | XXX | CAL DRM | STK | TTL SA FA MM 000
RO | M | BRKE | Gkl BRTE | BESK | mERR EEE ZEBR EHRS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
60 FrfEStd .0 ETitE FREStd SA | #7fE Std FA | #RAEStd MA 000
SHABICID/T 90 | 300-600 | DI3ERen.1 | 1003000 | Calculation By | mEStd Hole SO | 45 Special FB | {ll Side MB 2
E/F/G--- Drawing o Special s ﬁl’l‘?%(arhr;lazeMoumlng

1468924{5) Example : SHC-090-300.1-500-1002-SA-FA-MC-000

Note: all the measuring units are mm




BHZHEA Linear Module SHC-090-400.1

\‘"
3
=)
=
Q
T

Liotal Length=Lstroke+Lcarra

getLsafety Stroket182

SRE=-FRTEIBRKE+ R L1782

235
$80 268 9102 ; 125
= 9 5
S [© 9]
7*M8*16 wl * © ©
® : © ©
@ ® o) 5 o
@ (5] )?:gk =
o o o o By
400 End Plate
— e KSR
$20hé6 1 © 8*M10
— ® ® - ® ® @@‘ : ® efe
" % ) ° ° )
= © o o o —— il = ® —9
81 91 182
10*M8*20/ 90+0.2 | 90%0.2 | 90°0.2 | 90%0.2
FARZSH Technical Data PEhEE Products weight
e NIHEE maximum Speed : 5m/s
e R Ini#E E maximum Acc: 25m/ss FATIEE &
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 32.4kg
22 %45 No-load Torque: 1.2Nm
& K$7 J7ymaximum Force Fx : 5200N 100mm 17 FEE &
A5 7 % % Belt Width : 50mm 100mm Stroke Weight:  1.62kg
44714 Stoke per Revolution: 200mm
K N A maximum input torque:  155Nm
& X472 maximum Stoke: 6000mm
K ELHE /1 Capability
Fz %1 (N) Force (N)
Fx(max) 5200
Fy(max) 17000
Fz(max) 10000
I EESEsE Moment(Nm)
Mx(max) 480
My(max) 1100
Mz(max) 1600
1] 5212 B, Order Information
SHC | XXX | CAL DRM STK | TIL SA FA MM [ 000
R | MR | BRKE | Gkl | BRGE | BERK R SEE BES Z5RS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
60 FrifEStd .0 ETitE FRAEStd SA | 7 Std FA FRAE Std MA 000
SHABICID/T 90 | 300-600 | DI3ERen.1 | 1003000 | Calculation By | mEStd Hole SO | 45 Special FB | {ll Side MB 2
E/F/G-- Drawing o Special s ﬁl’l?i&(arﬂrlﬂazeMoumlng

1468924{5) Example : SHC-090-300.1-500-1002-SA-FA-MC-000

Note: all the measuring units are mm




EHZH A Linear Module SHC-090-500.1

Ltotal Leng

th=Lstroke*Lcarrag:

e+Lsafety Stroke+182

BRE=BRITEBRKE-RE(TIE+182

$102 125
© ©)
[© o
7*M8*16 © ©
© ©
© © E ]
@ @ O\ ) (=]
@ ® /o %) L)
© © © © 1 T
500 End Plat
248 12.5 Eﬁ%‘;ﬁ;ﬁ;&
$20h6 = © 8*M10
—_— © © - © © ! e ele
oo ~ ° o "
! 2 g — ke w qu - 15(E> ? 65 T
LL. 182
10%*M8*20 117.50.2 | 117.5'0.2 | 117.5'0.2 | 117.5'0.2
FARZSH Technical Data PEhEE Products weight
e NIHEE maximum Speed : 5m/s
e R Ini#E E maximum Acc: 25m/ss FATIEE &
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 47.6kg
22 %45 No-load Torque: 1.2Nm
& K$7 J7ymaximum Force Fx : 5200N 100mm 17 FEE &
A5 7 % % Belt Width : 50mm 100mm Stroke Weight:  1.62kg
44714 Stoke per Revolution: 200mm
K N A maximum input torque:  155Nm
& X472 maximum Stoke: 6000mm
K ELHE /1 Capability
Fz %1 (N) Force (N)
Fx(max) 5200
Fy(max) 17000
Fz(max) 10000
I EESEsE Moment(Nm)
Mx(max) 480
My(max) 1400
Mz(max) 2000
1] 5212 B, Order Information
SHC | XXX | CAL DRM STK | TIL SA FA MM [ 000
R | MR | BRKE | Gkl | BRGE | BERK R S BES Z5RS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
60 FrifEStd .0 ETitE FRAEStd SA | 7 Std FA FRAE Std MA 000
SHABICID/T 90 | 300-600 | DI3ERen.1 | 1003000 | Calculation By | mEStd Hole SO | 45 Special FB | {ll Side MB 2
E/F/G-- Drawing o Special s ﬁl’l?i&(arﬂrlﬂazeMoumlng

1468924{5) Example : SHC-090-300.1-500-1002-SA-FA-MC-000

Note: all the measuring units are mm




